6/30/22

HEERF III (ARP) Reporting (Update)

Lock Haven University began distributing emergency grants to students on July 22, 2021.

Emergency grants were distributed based on EFC with the highest priority given to students with the most need. A FAFSA was not required to receive an emergency grant in the initial round. In the initial round of emergency grants, only students enrolled during the COVID-19 pandemic received an award – incoming freshmen were not eligible for an emergency grant.

FALL BLOCK GRANTS:

EFC	#Students	Award Value	Total
\$0-5,576 (Pell)	708	\$1800	\$1,274,400
\$5,577 – 12,000	239	\$1200	\$286,800
\$12,001 – 24,999	280	\$800	\$224,000
\$25,000 and above	233	\$500	\$116,500
No FAFSA	531	\$300	\$159,300
Totals	1,990		\$2,060,700

Following the initial round of emergency grants, an application was made available at https://www.lockhaven.edu/financialaid/types/#tab-10 in which a student could check the following:

I am a returning student who has not received an emergency grant.
I am a returning student who was impacted by COVID and I'm requesting an additional
emergency grant.
I am a new student who was impacted by COVID and did not receive an emergency
grant.
I have now filed my FAFSA and want to see if I qualify for additional grant money.

Up to \$200,000 has been earmarked for the application process. As of 12/20/21, 134 students have been approved for an emergency grant for a grand total of \$187,600.

The total emergency grant allocation spent during the fall semester was \$2,248,300.

SPRING BLOCK GRANTS:

EFC	#Students	Award Value	Total
\$0-5,576 (Pell)	900	\$1500	\$1,350,000
\$5,577 – 12,000	310	\$1200	372,000
\$12,001 – 24,999	364	\$800	\$291,200
\$25,000 and above	365	\$500	\$182,500
No FAFSA	327	\$200	\$65,400
Totals	2,266		\$2,261,100

Following the initial round of emergency grants, an application was made available at https://www.lockhaven.edu/financialaid/types/#tab-10 in which a student could check the following:

I am a returning student who has not received an emergency grant.
I am a returning student who was impacted by COVID and I'm requesting an additional
emergency grant.
I am a new student who was impacted by COVID and did not receive an emergency
grant.
I have now filed my FAFSA and want to see if I qualify for additional grant money.

As of 5/10/22, the remaining balance of \$46,423 from February's report has been granted to students via the application process. The emergency grant allotment for students has been exhausted.

2/3/22

HEERF III (ARP) Reporting (Update)

Lock Haven University began distributing emergency grants to students on July 22, 2021.

Emergency grants were distributed based on EFC with the highest priority given to students with the most need. A FAFSA was not required to receive an emergency grant in the initial round. In the initial round of emergency grants, only students enrolled during the COVID-19 pandemic received an award – incoming freshmen were not eligible for an emergency grant.

FALL BLOCK GRANTS:

EFC	#Students	Award Value	Total
\$0-5,576 (Pell)	708	\$1800	\$1,274,400
\$5,577 – 12,000	239	\$1200	\$286,800
\$12,001 – 24,999	280	\$800	\$224,000
\$25,000 and above	233	\$500	\$116,500
No FAFSA	531	\$300	\$159,300
Totals	1,990		\$2,060,700

Following the initial round of emergency grants, an application was made available at https://www.lockhaven.edu/financialaid/types/#tab-10 in which a student could check the following:

I am a returning student who has not received an emergency grant.
I am a returning student who was impacted by COVID and I'm requesting an additional
emergency grant.
I am a new student who was impacted by COVID and did not receive an emergency
grant.
I have now filed my FAFSA and want to see if I qualify for additional grant money.

Up to \$200,000 has been earmarked for the application process. As of 12/20/21, 134 students have been approved for an emergency grant for a grand total of \$187,600.

The total emergency grant allocation spent during the fall semester was \$2,248,300.

SPRING BLOCK GRANTS:

EFC	#Students	Award Value	Total
\$0-5,576 (Pell)	900	\$1500	\$1,350,000
\$5,577 – 12,000	310	\$1200	372,000
\$12,001 – 24,999	364	\$800	\$291,200
\$25,000 and above	365	\$500	\$182,500
No FAFSA	327	\$200	\$65,400
Totals	2,266		\$2,261,100

Following the initial round of emergency grants, an application was made available at https://www.lockhaven.edu/financialaid/types/#tab-10 in which a student could check the following:

I am a returning student who has not received an emergency grant.
I am a returning student who was impacted by COVID and I'm requesting an additional
emergency grant.
I am a new student who was impacted by COVID and did not receive an emergency
grant.
I have now filed my FAFSA and want to see if I qualify for additional grant money.

The remaining balance of \$46,423 has been earmarked for the spring application process. Emergency grant requests will be reviewed and refunded until the remaining funds are exhausted.

12/20/21

HEERF III (ARP) Reporting (Update)

Lock Haven University began distributing emergency grants to students on July 22, 2021.

Emergency grants were distributed based on EFC with the highest priority given to students with the most need. A FAFSA was not required to receive an emergency grant in the initial round. In the initial round of emergency grants, only students enrolled during the COVID-19 pandemic received an award – incoming freshmen were not eligible for an emergency grant. The initial round of emergency grants was as follows:

EFC	#Students	Award Value	Total
\$0-5,576 (Pell)	708	\$1800	\$1,274,400
\$5,577 – 12,000	239	\$1200	\$286,800
\$12,001 – 24,999	280	\$800	\$224,000
\$25,000 and above	233	\$500	\$116,500
No FAFSA	531	\$300	\$159,300
Totals	1,990		\$2,060,700

Following the initial round of emergency grants, an application was made available at https://www.lockhaven.edu/financialaid/types/#tab-10 in which a student could check the following:

I am a returning student who has not received an emergency grant.
I am a returning student who was impacted by COVID and I'm requesting an additional
emergency grant.
I am a new student who was impacted by COVID and did not receive an emergency
grant.
I have now filed my FAFSA and want to see if I qualify for additional grant money.

Up to \$200,000 has been earmarked for the application process. As of 12/20/21, 134 students have been approved for an emergency grant for a grand total of \$187,600.

The total emergency grant allocation spent thus far is \$2,248,300.

11/18/21

HEERF III (ARP) Reporting (Update)

Lock Haven University began distributing emergency grants to students on July 22, 2021.

Emergency grants were distributed based on EFC with the highest priority given to students with the most need. A FAFSA was not required to receive an emergency grant in the initial round. In the initial round of emergency grants, only students enrolled during the COVID-19 pandemic received an award – incoming freshmen were not eligible for an emergency grant. The initial round of emergency grants was as follows:

EFC	#Students	Award Value	Total
\$0-5,576 (Pell)	708	\$1800	\$1,274,400
\$5,577 – 12,000	239	\$1200	\$286,800
\$12,001 – 24,999	280	\$800	\$224,000
\$25,000 and above	233	\$500	\$116,500
No FAFSA	531	\$300	\$159,300
Totals	1,991		\$2,061,000

Following the initial round of emergency grants, an application was made available at https://www.lockhaven.edu/financialaid/types/#tab-10 in which a student could check the following:

I am a returning student who has not received an emergency grant.
I am a returning student who was impacted by COVID and I'm requesting an additional
emergency grant.
I am a new student who was impacted by COVID and did not receive an emergency
grant.
I have now filed my FAFSA and want to see if I qualify for additional grant money.

Up to \$200,000 has been earmarked for the application process. As of 11/16/21, 130 students have been approved for an emergency grant for a grand total of \$183,000.

The total emergency grant allocation spent thus far is \$2,244,000.

10/14/21

HEERF III (ARP) Reporting (Update)

Lock Haven University began distributing emergency grants to students on July 22, 2021.

Emergency grants were distributed based on EFC with the highest priority given to students with the most need. A FAFSA was not required to receive an emergency grant in the initial round. In the initial round of emergency grants, only students enrolled during the COVID-19 pandemic received an award – incoming freshmen were not eligible for an emergency grant. The initial round of emergency grants was as follows:

EFC	#Students	Award Value	Total
\$0-5,576 (Pell)	708	\$1800	\$1,274,400
\$5,577 – 12,000	239	\$1200	\$286,800
\$12,001 – 24,999	280	\$800	\$224,000
\$25,000 and above	233	\$500	\$116,500
No FAFSA	531	\$300	\$159,300
Totals	1,991		\$2,061,000

Following the initial round of emergency grants, an application was made available at https://www.lockhaven.edu/financialaid/types/#tab-10 in which a student could check the following:

I am a returning student who has not received an emergency grant.
I am a returning student who was impacted by COVID and I'm requesting an additional
emergency grant.
I am a new student who was impacted by COVID and did not receive an emergency
grant.
I have now filed my FAFSA and want to see if I qualify for additional grant money.

Up to \$200,000 has been earmarked for the application process. To date, 85 students have been approved for an emergency grant for a grand total of \$126,800.

The total emergency grant allocation spent thus far is \$2,187,800.

6/30/21

HEERF III (ARP) Reporting (Initial Summary)

On March 11, 2021, the American Rescue Plan (ARP) was passed to provide additional relief to address the continued impact of COVID-19. ARP funds provided \$39.6 billion in support to higher education institutions to serve students. Under ARP section 2003 (a)(1), Lock Haven University was allocated \$9,038,552 (\$4,555,823 for the student portion). Decisions regarding the distribution of funds is ongoing and students will be notified via their LHU email when they are available.